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a’—b®=c*-d*=2004, a,b,c,d €Z. JloBectn: m=2(a+b)(c+d)(ac+bd —2004) - KBajapar LiJIOr0

qucia.
a,b,ceZ a+b+c=1. JoBectu: (a+bc)(b+ac)(c+ab)=d*, ne deZ.
(X +D(y* +1) +2(x— y)(L—xy) = 4(x+y) .3HAWTH BCi PO3B’SI3KH X, Y € Z.
X*+y>=(x+y)’ . 3HAlTH BCI X, Y€ Z .
a=a’+h’-8b—2ab+16 . /loBecTH: a - TOUHUII KBaIpaT, AKIIO &, b - IiIi.
X(x+1) = y(y+D(y*+1) . 3Haiiti x,yeN.
k?—m*—n*=2(m-n)(k—m+n) , m, n, keZ. JloBecT: 2mn - TOYHHI KBaJpAaT.
X, y - momatHi. Bimomo x+./y, y++/x, Vx +4/y - uimi. JloeniTs, mo Toai X, y - TAKOXK L.



